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Negatives2
Complete the sentences and make them negative.
Example: Sheila has two daughters, but Louise hasn’t.

1. James is named after his grandfather, but John ____________ .

2. Margaret likes her job, but Sally ____________ .

3. Fiona is from Ireland, but Lisa and Jamie ____________ .

4. Greg can speak three languages, but Gary ____________ .

Grammar Reference Section: The Simple Present – 
Negative Form; ‘Have’ and ‘have got’ – Negative Form 

Family tree3
Use the family tree to help you
complete the sentences.

1. Harry is Paula’s _______________ and Jane’s _______________ .

2. Marie is Paula’s _______________ .

3. Bess is Harry’s _______________ and Jack’s _______________ .

4. Jack is Paula’s _______________ .

5. Paula and Harry are Marie’s _______________ and _______________ .

6. Jane is Paula’s _______________ .

7. Clark, Tony and Marie are Jane and Graham’s _______________ .

8. Bess is Paula’s _______________ .

9. Clark and Tony are _______________ , 

and Marie is their _______________ .

World of work – Questions1

a Use these words to complete the questions below.
who • what • when • where • why • how

1. ____________ do you do? (job/profession)

2. ____________ do you work? 

3. ____________ long does it take you to get to work in the morning?

4. ____________ do you finish work in the afternoon/evening?  

5. ____________ is your favourite colleague/co–worker? 

6. ____________ did you choose your job/profession?

b Now answer questions 1.–6.
on a separate piece of paper.

Jane ∞ Graham

Paula ∞ Harry

Clark Tony

Bess ∞ Jack

Marie

Note
AE: co–worker oder colleague
BE: colleague

a


